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Out of 100 students of class ten of a school, 60 liked English and
50 like mathematics. But 20 did not like any of these two subjects. The
sets of students who liked English and Mathematics are denoted by
'E' and 'M' respectively.

(a) TEHA & giv faaa w9 awed frndeser wEars wAeTsar

ATHTAT TETAIH |

Write the set of the students who did not like any of these two

subjects in the cardinality notation. (1)
(b) 34 faum w qwreq faardt wgemens « e fREuar SMEdeTg e

FerTAT 9=ga e | ’

Present the given information in a Ven-diagram assuming x for the

number of students who liked both subjects. (1)

(c) TS AT fauag 7 e faandieest g gur amsey |
Find the number of students who liked exactly one subject. 3)
(d) Rk TEw w4 9 fawg w9 qwen faardier @gEm 30 woa
ga@rdr 34 faag 97 wew faandt e & sEw g 7 g
STy |
If 30 students did not like any of these two subjects, what will be
the effect in the number of students who liked both subjects? Find

it. (1)

yreTerEd €.1,00,000 USET A@wr e G | g afie 8% W
AT At afed = )

Aashlal deposited Rs.1,00,000 in a bank. The bank provides 8% per
annum interest compounded semi annually.

(a) Tt T T PR T Segd | .
Write the formula to calculate annually compound interest. )

- amagiagl



(b)
(c)

(R)
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How much interest does Aashlal receive in 2 years? Find it. )

iy ASHA A AR T qEAT At s are fRuar g
IAETE FHiq BIZET 41 °IeT g7 99T 7 9T Ae e |
If the bank provides yearly compound interest for same rate and

same period of time, how much would be profit or loss for him?
Find it. (2)

TS MEH TELEr 10,000 B | AiiE TwEgEn e 4% &1 W
MSATE ufewl queT AT 100 FAT HIHE a918 IR d0F TS |
The population of a village is 10,000. Annual population growth rate is

~ 4%. At the end of first year, 100 people migrated from that village to
other places.

(a)
(b)

©

Find the population of the village after one year. (1)
gig AT 99 Bler Ui a915 A 99 2 F99ts 97 TS TaaSen
Hiq [T 7 9T TSR |

If nobody were migrated in second year, what would be the
population of the village after 2 years‘7 Find it. (2)
gfg gfger ad FET GUE TOH I 2 qUAT g TA9SET gighn
HAA HIF TAT ? T TSI |

If nobody was migrated in first year, what would be the
difference in population growth in 2 years? Find it. (1)

T TG AgHepT WA faHT R AR F9 feAer | sl e’
TEX 7.3, 138.83 faar | FEr el AT {1 SOEHT qA9THT 2% o
AT qTF |

According to currency exchange rate_ of Nepal Rastra Bank,
1 American dollar equals to NRs. 138.83 in a day. Nepali currency was
devaluated by 2% in the comparison of dollar after some days.

()
(b)

ot fafwa e & & 7 SeE |
What is called currency exchange? Write it. (D
I A FARET SEX($) 1500 W Fd AT WA qfepra ?

T AMS eIy, |
How many Nepali rupees can be exchanged with American
dollar (8) 1500 before devaluation? Find it. (1)



(c)

Fersrar, Qe ot R waaT Rafeen
AH=2639.M.T AD=243.f. B |

~In the square based pyramid given in the
figure, AH =26 cm and AD = 24 cm.

(a)
(b)
(c)

feguar e a@mm T apevien fafer aer qer 99w \
3 FEIHN &1 | Ih SR @@ 9= 17 4 ¥ /
ARG qiRfr 44 F.67. &
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AT 9 7.%.7,08,033 F Fiq ARk SoR AeA qRFg 2 T
LRI |

After devaluation, how many American dollar can be exchanged
with NRs. 7,08,033? Find it. : -(2)

HD ¥ EF & % & |

Write the relation of HD and EF. (1)

EF & A9 fA&eeiq |

Find the value of EF.

St RIS [T dedl §ahd Malelerd, | .
Find the total surface area of the pyramid. (2)

The given figure is of a combined solid object 17cm

made with the combination of cylinder and
hemisphere. The total height of the solid is 17 cm  J—oo=u>N

and circumference of the base is 44 cm.

(a) S AR A et g7 deterd |

Write the formula to calculate volume of solid object. (1)
(b) PR ARTHN AT Fa &7 7 0T TS erd |

What is the volume of hemispherical part? Find it. (¥3)
(c) o= T Y T e ey o ey |

Compare between the volume of cylinder and hemisphere. 2)
50 x 1 x4 W& @ amaer g gia fwex 50 e
7 9T ARTH G |
A rectangular tank of 5 m x 1 m x 4 m is filled with water at the rate of
50 paisa per litre,

() §T TATEAT ARGE gy 20 TRERATS SRER IRETET FigE @

AfeTenE T8 9 q9er IRaRe T quEn e wa @ fadie ?
qdT S 6 | .

The water containing in full tank is enough for 20 families
distributed equally for one month. How much cost ‘of water should

one family have to pay in one year? Find it. (3)
FHHA
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AR STHAT BT TS a5g, 7 o mnva—a‘mi
If length, breadth and height each of the tank is increased by 1 m,
by how many times the capacity of tank is increased? Find it. (1)

RGeS (M qIHAPTAT IETETH B |
The number of words learned by a child daily in the double than
revious day is shown in the following table. -
ﬁ,:a- (Day) ]ﬂ znd 3rd 4lh
=g - g1 (Number of words) | 3 6 12 |24
(a) T=A B ATHIAT = [Afeheal & 7 degerq |
In which sequence is the child learning words? Write it. (@)
(b) T a=aT™ 8 A femawrAr Ffg W MEEH ¢ qF TENT T 9w
S Terd. |
How many words does the child learn upto 8 days? Find it using
formula. (2)
(c) ===l &ia faror s+ 6141 wex Faaa 7 o e ery |
In how many days will the child learn 6141 words? Find it. (2)
[ ASHS aqP T3Sl UE@N A9H JLHeed Jhde] AR T I
HIHEEH! TOAHD! A O 3 | \/
A two digit number is four times the sum of digits and three times the
product of digits.
(a) TFH WHF ATF y T 9P WD AT X AC IW TZ AThb(
LTS fasiTdg S AT Fegerd |
If one's place digit be y and ten's place digit is x, write the two
digit number in algebraic form. (1)
(b) FUHr T FER x BT IGAT T FHGO FAGTRI |
Make a quadratic equation in terms of x according to given
conditions. _ ()
(c) % gg&T I TSR |
Find the number.

| C
(a) e TR (Simpliy): 777 — \Z;

b+1

(b) & TR (Solve): 7% +77F =73
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In the figure, triangles APQ and BPQ are
standing on the same base PQ and between A q

the same parallel lines AB and PQ.
(a) Pt APQ X P{s BPQ 1 SIAwier=iah T3 WeTerq |

Write the relation between the area of triangle APQ and triangle

BPQ. (1)
(b) afe AB T PQ fa=rar awa gt 8 ./ T AB = 10 .. I w7 AAPB

H AR [HPTearyg |

If the perpendicular distance between AB and PQ is 8 cm and

AB = 10 cm, find the area of AAPB. (2)

12. 31 Qs PQRS AT PQ = 5.1 &.f7, QR =7 A, RS = 4.6 4.,
SP=5.4 .M. T QS=6.6 .M. fegws s
In a quadrilateral PQRS, PQ = 5.1 cm, QR = 7 cm, RS = 4.6 cm,
SP = 5.4 cm and QS = 6.6 cm are given.
(a) AIPIPT 9 AR I PQRS N TEAT TR T AHAR
SARAUT AT G T4 TS Perepr =T e |
Construct the quadnlateral PQRS according to above measurement
and then construct a triangle which is equal to the quadrilateral in
area. 3)
(b) uwmﬂﬁmﬁﬂﬁzwmhﬁmm? BRI
fegere |
Why the areas of triangle and quadrilateral so constructed are
equal? Give reason. (D

13. fer=rm, WWOIABDCWW
T &l |
In the figure, O is the center of the circle and o
A

ABDC is a cyclic quadrilateral.
(a) Fa@1 TSe WA I ARy o Forsr
T F §0 ! TR |

What is the relation between inscribed angles

standing on same arc of a circle? Write it. (1)
(b) afz affiar BAC =35° 8 W ZBOC &1 I Tal SIS eI |
[finscribed angle BAC = 35 find the value of ZBOC. (1)

S HIT
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(c) af% =7 BDC T =9 ACD &R @ M WA ey : AB/CD. .

If arc BDC and arc ACD are equal, prove that: AB //CD )

(d) £BAC T ZBDC #\ige TREF §S 91 Famer fag ey |
(=T 3 .M. nfery woE 8 9UeE ATaNEd S l)

Verify experimentally that ZBAC and ZBDC are supplementary.

(Two circles having at least 3 cm radii are necessary.) (2)-

14, feaeley S=E 122 M g | oA BT AT geel wednwT faarerd

15.

Wt 36 M. SRare famerg wadl @ dFerea wat 30° H1 HI0T qUE |

The height of Himali is 1.22 m. She observed the top of the school

building standing 36 m far from the base of school building found the
angle of 30°. '

(a) fezuar W=t R Reweler faaed wEwer W g aAer

PIUATS & T ? TEE |
- What is the name of the angle found when Himali observed at the
top of school building according to the given context? Write it. (1)

(b) WIUHT A ATARDI Fa FATSTard |

Sketch the figure from the above context. (1)
(c) Taamer s I=Tg fAeprege |
Find the height of the school building. (1)

(d) faarerg wawar T &=F 60° F HI FATeA [eWel I& AR
Fia frex afas a1 erer feg 9@ ¢ FRW R
How many meter should Himali have to walk nearer or farther

from that place to make the angle of the top of the building to be
60°? Give reason, (1)

03T faaregeat 300 s faardier S#7 arfiremar feguar & 1
The age of 300 students of a school are given in the table.

JHT qUAT (Age in years) 0-4 | 4-8 |8-12 [12-16 [16-20
No. of students (fa=m4t wgem) | 50 65 75 | 60 | 50

N_
(a) feelt T (Q) =L + 1L x a1 o.f, 7 & I 7 AR

f
N

What does c.f denote in the first quartile (Q,) =L +-?—-fc—°f- Xi.

Write it. (1)
(b) T TONEEH WAG fAETTRI | :

Calculate the mean of the given data. (2)
(c) @ TaTEFar AftAET METEER |

Find the median of the given data, ()

L



(d)
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aiger AWNRT 98 agw oy mE hm«ﬁtm wEn gﬁm?mT
eI |
Find the percentage of number of students' who obtained more
marks than median class. . (1)

6. m&ﬁﬁ?{mszqﬂwmﬁmﬁﬁmmﬂﬁ(ﬁm)
ggaar arw Pefeger o)
From a well shuffled pack of 52 cards two cards are drawn randomly
- one after another without replacement.

(a) FFATAATHT T g SETE |

Write the multiplicative law of probability. . (1)
(b) ¥R TCH AW TF T AUH T FEAAA THUTHERR FFHTAAITS

qerfer AT TESTRIR |

Show the probability of all possible outcomcs of getting and not

getting face cards in a tree diagram. (2)
(c) T4 AT AER TUFN T Fwremar FaTegerd |

Calculate the probability of getting both face cards. (D
(d) T AT SRR WU G T T 4 A AER TACH A q

qraTegaas el Tery |
Compare between the probability of getting both face cards and the
probability of not getting both face cards. (1)
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